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6-4 through 6-6 Review

Ditections: Graph the solution of each compound inequality
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Directions: Solve each campound inequality. Then, graph the solution set. Write
the solution set in set bullder notation.

3) 3sp-5<2

4) 2+ 4<6orxz2x-4

Directions: Solve each open sentence. Then graph the solution set. Wiite the
solution set in { }. For example, {2, -4}

5) |x[=7
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Directions: Solve each open sentence. Then gragh the solution set. Write the

solution set in set builder notation.

7) Ix+1| <4

8) |2d-1| <4 : 3 >
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